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p iy R H = £3F e * ik iE
9% 7p EO% 500 050387 T wingk (O %)
9% 11p HOiL 600 050390 T oA (HOF. FO#)
9% 12p & O 500 050391 gwink (807T)
97 18p 1 0% 500 050394 T ok (BO®)
97 18p ViOK 500 050396 & wingk (FO#)
97 18p 203 500 050395 Twint(R07T)
97 18p 2O 500 050397 g wingk (mO4)
9% 18p HO% 1000 050398 gwink (20 F08)
97 18p 10% 500 050399 §wingk (1ROR%)
97 18p wOE 500 050400 ot (R02)
97 18p T O 500 050601 gwink(807T)
9% 18p % O 500 050603 gt (HOM)
97 18p 30 500 050602 gwink(207)
97 18p mO= 1000 050604 §wngt(mO®%. mOE)
97 18p £40% 2000 050605 T iR (FO#. FIOR HOG. mOE)
97 18p 21O 2500 050606 ot (HFO-. HOM)
9% 18p *O% i & 1k 1000 050608 T3t h (RO HROL)
9% 18p & O% 500 050609 T A (FIOR)
9% 18p Fouad 1000 050610 T oA (FIO02. %0)
97 18p TOR 500 050611 € oing (2 0O%)
97 18p mO & 1500 050612 ToA(EOP.EOF. #OF,. 0% . mO#)
9% 18p EOX 1000 050613 T ot (GrO%. #OR)
97 18p POg%EF 27 1000 050614 Fut(mOFE E£07)
9% 18p 3O3* 500 050615 T wingk (HROH)

)3t 19600
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p iy R H = £3F e * ik iE
9718p # Ok 500 050616 Tt (HO8)
9718np #OW 2000 050617 TR (0%, 5%0OM)
97 18p % O 500 050618 oA (ROZ)

97 18p HO#® 500 050619 TR (20%)
97 18p HO# 500 050620 T et (208
97 18p RO % 500 050621 € un® (2 O%)
9718np BOW 500 050622 e (ROH)
9% 18p + OA 500 050623 T A(20%)
9718np #O7 500 050624 T oA (FIO8)
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